EARAZROREIERT — 2 N—XBISY —F 20135F4820H (+) 1[@E1A&E4H

m C2—5# C2 ¥5%4m® Lt ‘ (G ‘ (el — | & (B) 14000 TR
[A&4£] 1% :100,000  ~ 2% :23,000 ™  33#%&:9,00M . 437%&:5000MH  53%&:3,000H
WmEHR MK ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
S 7 4 4 | EBERE 1:30.7 1-1-1-1 | 38.6| — 3 482 | BBITIE (1EH)
729271 X I 54.0 =) c12) | ) o575
LA bk—L B:Dd—LFLTx—Fa—> HO%5
— 55 B4 | TTEE 1:31.0 4-4-4-3 |38.3| — 2 504 | EBITiE (1£8)
=T 54.0 (" 1/2) @) | EIBBA
LTUBAZIIL R BT —F v ANy b =& =7
Wy Ta—-T3> o4 5:%%‘&1: 1(73::; 2-2-2-2 |38.6| — 4 494 ,%E;E—(EED)
L:T77NTTT BTA-UT (1) (B) #BA3—-RKL—va>AaE77
. = . [iim}2) : —6-6- — REM (&H)
284 TSA R it 4 R 1(/31*; 6-6-6-5 | 37.9 1 (4:373; Jﬁii%
L:77AUIT7 BXEYTHTFI— BRSH Ty KFv T - Tr—L
N DS 131, 55— . — =/EEAN (EE)
XUYTEER o4 | B2 Bm | T | ®S PG |Emre
L:AR)IFNIT7—/ BEF¥FFLIZFEF TEHS
808 w3 4 5 | WTEX 1:31.7 3-3-3-4 [39.1| — 5 445 | EE—K (£8)
A1 /r7_4 I ‘ 56.0 (1/2) 3 | W T
R:b—>NFy K B:ayv3ivx FREHE
S = ; > 5 | AlllER 1:31.9 7-7-7-7 | 38.3| — 6 507 | FBEF (EH)
707 7| TARNANT—E 77 w0 ) Ca | BEEE
LUrh—-r BivAxETYD AEH
_ _ HH ARl : -9-0- — HEART (£8)
glalg|5x+5y%— 4 5 2 1.(342).6 9-9-9-9 |37.9 8 <5+177) @HE%
Ry TELRAVF— BOdANLI TR ECPN=Ye ]
i o4 | HHEIEA 1:32.7 8-8-8-8 |38.3| — 7 487 | BINEX (£ER)
911 h—Fgvax 5.0 (172) (4a) | FE—5F
R:Tov78%Y—F B:II757-547> i=te ]
® I—F—@EBIERL
13—4— 2,6,3,8,4,5,7,1,9
Ao=5"= 2,6,3,8,4,5,7,1,9
3T—7— 2,6,3,8,4,5,7,1,9
43—+ — 2,6,8,3,5,4,7,1,9
[ N5
B 2 640M 794K 2-8 390 & 2-8 1,330 &R 2-6-8 950M
# B 2 220H 2-6 420 B E 2-8 1,130M EE 2-8-6 5,710
8 220/ 6-8 290M B H 2-8 2,140
6 240M

ABICOVWTRDTEEERROODE. TR LIV,




